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LBH – Chapter 10: Inductive or Deductive Reasoning?
1. All students at Strake Jesuit are male.

Juan Adams goes to Strake Jesuit.

Therefore, Juan is a male.

2. 90% of Strake Jesuit students go on to graduate from a 4-year college.

30% of public school students in Houston go on to graduate from a 4-year college.
People who graduate from a 4-year college make more money than people who don’t.

Strake Jesuit students are going to make more money than Houston-area public school 

students.
3. Only quarterbacks had to go to the meeting on Wednesday.

Ted went to the meeting on Wednesday.

Ted is a quarterback.

4. High school boys do not listen to the Jonas Brothers.

Peter is a high school boy.

Therefore, Peter does not listen to the Jonas Brothers.

5. In 11 years of education, the junior has never made a “C” on a report card.
Junior and senior years are easier than sophomore year.

The junior will not make a “C” on a report card junior year.

6. All juniors have their Driver’s Licenses.
Bill is a junior.

Therefore, Bill has his Driver’s License.

7. Emily Bronte published her books under the name “Ellis Bell.”
Louisa May Alcott published her novels under the name “A.M. Barnard.”

Emily Bronte and Louisa May Alcott are both female novelists who lived and wrote in 
the nineteenth century.

Therefore, all nineteenth century female novelists published their novels under 

pseudonyms.
8. All English teachers at Strake Jesuit were literature majors.
Mrs. Meyer is an English teacher at Strake Jesuit.

Therefore, Mrs. Meyer was a literature major.

9. Ira is 5’2”.
Ira is a freshmen.

Stan is 5’10”.

Stan is a senior.

All seniors are taller than freshmen.

10. I fail every test I take.
I have a test later this week.

I will fail the test I am taking later this week.

What are some problems with inductive reasoning?

What are some problems with deductive reasoning?

